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Q.1 a. What is AI? Explain the fields-:ffihbie foundations of AI i€**$eil. Mention
some applications of AI. * t$ ;'' r#*W &. w

10 L2 COI

b. You are provided wiqh ffiwater jugs, one with s"-ffll$?ts of capacity and

the other with 3 ga[ffif"capacity. Neither havekn] ireasuring marks on
it. How can we ffiepcfly 4 gallons of water in S*gallon jug?

D Write doyrh tifpproduction rules for the'above problem.
ii) Find any'diw ibtution for the abovepfbUlefn

't@* @'

l0 L2 COI
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Q.2 a. itgn6nA*r f,trst search algffilkn and explain byrtaking suitable

mfile.u {,S ml**%irs q.,#\.

10 L2 col

b. Explain the processg.f simpte&ill climbing with al$iftp and also exp$l&
the problems with hill cli4ffig. \* +_,"t1,*';*- .- rufl *;l

10 L2 cor

Module - 2Y% ;'e #

Q.3 a. Explain MINIMAX pnocedure, strategy 
S#"mn**.

"rs !,1.h,
'w*[h

t2 L2 col

b. Show that q*16(e n B) A(B + 6.A).is'unsatisfiable using'the tableau

method. o'*/ 
h)% 
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8 L2 col
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Q.4

^.
Wdlldbn^,n the steps to S*ihttn a formula to itgecitlivalent CNF. Convert

thg fot?nula (-A -+ ,r&tqn - A) into its 
ffi*flent 

CNF representation.
10 L2,

L3
col
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#
lExplain the gamq*plEnhg
MAX is playinpfiust.;

problem wi{hsHrf example game tree, where 10 L2,
L3

c02

lffiffite -s
Q.s t. What is ffiar{SEnds analysis?tuffife the algorithm and explain by taking

suitable example. 
,":

10 L2 coz

b. Explain semantic ng'JffiEthod of knowledge representation with an

example. %
10 L2 c02
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n with frames" Gitlel

and faults in a frame. C*na ;'
,hfre structure

t^c^-^-^^

10 L3 co2
Q.6 N,

10 L3 c02
b. Demonstrate forward reasoning and Dacl<wq*' {easuurrrb

mechanism for the following set of classes: *s) -'"" 
"

isa (X, human <- is a (X, man) - ; W
#W

ti; -^s$t* d

Explain the concePt of BaYes *,f*ry \I
conditional probability. ;{}*p* *W" I.ffi* , ' ,r----ffi-',,=:;;;"1

lot I^i21 co2
Q.7 a.

10 L2 co2
b. We are given ProbabilitY

0.40 and probabilitY of qg nch
as 0.005. Find the y of the

age > 60 years is lite@;

4 Sl* or

ln cnosen aL lalrlltuur L'lur6 rrrvrEtv Ev

rsen at random havirr'g age > 60 years

hct that a person'uhosen at random of

ryt*

10 L2 co2
Q.8 fl. Discuss aboutrK@lEans ano merarcmcar I

.1 "S"" '

il.qlry:

ith a neat sketch. 10 L2 c02
b. Explaip;flq6;bmponents of a learrung syptem w

fl*n* ifl "Mrry@E : 6:;E :

ne-s -$

r Machine) for

e-S rykfu 3=."r, 'r= , , $,ffil#l

10 L2 co3
Q.e a. WhafTB SVM? Outlme the worruS (

linear and non linear classificsion'

10 L3 c()3
b. Discuss

Network
ihe different",iq$es while destgru_ng #nYNI\ (/l
t. ",,-t dS*
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10 L2 co3
Q.10 a. What is n ANN?,

"M',S

10 L2 c03
b. Designp
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